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MATHEMATICS

LEVEL 3: CALCULATOR PAPER
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Practice Paper 200'9—2010

Please read this information before the examination stasts.

e This examination is 60 minutes long.

All questions should be attemnpted.
e Arow of dots .......... denoles a space for your answer.

C) * Where answers are not exact, they should be given to three significant figures, unless
specified otherwise.

¢ The = button on your calculator should be used for calculations involving .
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| : - wor. find the value of
F ' 1. (@) (i) Writing down all the figures shown on your caleulator, fin . . of

2 06+6.75

Answer: ._,,...........--.‘----;‘--"'-'"-“"---# .......... (2)

(ii) Write your answer to part (a) (i) correct to three decimal places.

R — (1),
| | Q)
(iii) Write ydur answer to part (a) (i) correct to three significant figures. : g
ANSWEL vimsstssivisoasiressrunnans cssrinn® (1)

(b) Giving your answer correct to three significant figufes, find the value of

(i) 5.57
ANSWEL: ©viieeeeeissesrsseossaseensssssnss (1)

(if) %_g
ANSWET: ovovsissraresissssnessesss® (1)
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2. (i) Mrs Collins sold a rare book on a website for £72

o

She then paid a fee of 7.5% of the selling price.
How much was the fee? =

" Answer: £ IS SOPTRILAR W, I e B (2)

(||) Mrs Collins sold the book for £72 to Mr Hudson
He later sold the book for cash for £95 :
Calcutate his proﬂt asa percentage of, the prlce he pald for the book

CANSWET: e o e % @
3. Ama has a scale of 1 centifhetré to25kilometres. -~ [Tl
(I) What distance is shown by a Iength of 12 5 centlmetres on . . {-ISECIiFH)
-~ the map’? " , LA ]
| | o | et
ANSWET: oo e km (1)

(ii) Whét length on the map represents .a,distance_of 22.5 ki_lometres?l |

ANSWET: ...eiieiiiivieisieesreesesiasesressessrennes cm (1)

(iii) A square with sides of length 2 millimetres is drawn on the map. . .
What is the perimeter, in kilometres, of the actual square that this represents?

ANSWEL: .ovroeee. .......................... km  (2)

S.A. 2839128 — o 3 ‘ | Turn over



4. (a) When Mrs Ford drives her car, she travels 8 kilom
litre of petrol used. . S

(i) How many litres of petrol will Mrs For

When traveliing the same journey of 252 kilometres,
~ Mr Austin’s car uses 36 litres of petrol. '

(i) How many kilometres per litre is this?

etres for each

d's car use for

a journey of 252 kilometres?

ATISWET: “lesepsississsnipprsessmosarsssssisssssssas, litres (1)

ANSWEI: veveerensreres revreeereseresasrnenessnes KOV (1)

Petrol costs 98p per litre.

(b)

(iii)y How much less will Mrs Ford Spend on petrol for the journey than Mr Au.stin?

Answer: £ ..o — ERE T — -
‘Mrs Cooper drives for 2 hours 45 minutes, travelling at én
average speed of 72 km/h. . "
Then she drives for 40 minutes, travelling at an average spee
of 96 km/h. e speed .
What total distance does Mrs Cooper travel?
Answer: ... R i km (@)
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5. (a) To make custard for 4 people, Claire uses

300 millilitres of milk

2 eggs

2 tablespoon of vanilla essence
80 grams of caster sugar

(i) How much milk does Claire need to make custard for 10 people?

ANSWET: wevreeecuvreerrensscersssonsnes ml (2)

(if) Claire has plenty of milk, eggs and vanllla essence, but only 280 grams of
caster sugar.

If she uses all the caster sugar, for how many people can she make custard'?

Answer: s s (2)

(b) lan’s packet of sweets contains toffees, mints and fruit centres in the ratio 3: 5 : 4
There are 15 toffees in the packet. '

(i) How many sweets are there altogether in the packet?

Answer: ................. (2)

lan eats 3 toffees and 1 mint from his packet of sweets.

(u) What is the ratlo of toffees, mints and fruit centres remalmng in the packet?
Give your answer in its simplest form.

ANSWET: vveerererieriesrienen e earrin (2)
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' ith centre P and s¢ -
6. (a) On the centimetre-square grid below, enfarge shape X W | d Scale factoy

Label the image Y. A%
_ 1717 1 | | ] .T77
X
P
(2)
-(b) Shape S is an enlargement of shape R. | ' |
Shape S has area 100 cm?, : |
Shape R has area 4 cm’,
What is the enlargement scale factor?
Answer (2

----------
......................................

S.A. 2839128 ! | 5



7. (@) Simplity

(i) 58 ~ 3a+ 48

(i) 48 x 34°

(i) 12a°+8a
4a

(b) (i) Multiply out the brackets and simplify
0 4(c+ 5) - 2(3c+ 7)
(i) Factorise fully
12¢° + 18gh
S.A. 2839128 7

ANSWET:! (vieeiiveiiisinennnsnrrnnienne (1)

ANSWEL evieeccrrieerirenrssnrerersnnees (2)

CANSWEL: oo @)
i T ————————— (3)
ANSWET oiiiiieriicncinesecre e e (2)
Turn over




8. The eight swimmers in a 25 metres freestyle race recorded the following tlme's in
seconds: N

165 212 175 159 177 183 175 178

(i) What was the range of the times?

ANSWET: 1ueveenees s we S€C (1)

(i) Wh_at was the median time?

Answer: ......... bewvsris erernen e r e raainn sec

(i)} Work out the mean time to complete the race.

0

Answer: ..... p— IR, .. S6C (2)

(iv) By how much time did the winner beat the second-placed swimmer?

S.A. 2839128 8
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9. The table below shows the times té;ke o i s istances achiaie.
in the trl‘pl.e jump by a group of Childre2 E)Onrgg 01 r?s? g:;tres and the ‘dlstancers achieved

]190 ,rrjétres}irne, inseconds  [12.7[13.4] 138143147 | 154 15.7] 1656
triple jump distance, in metres | 104 | 98 96| 94| 91 82| 83| 76

(i) The first four pqir}is are plotted on the 8catt.e'r'g'raph below. -
Complete the"scatter graph by plotting the remaining points.

11 3 :
o AR NI 0 0 0
e R PR FE R
i R LS9 SN G U VTR S B x‘ . : :.ﬁ. wofrduadnde b cde
tiple [E FHEE PR R S
" jump.
distance, | - + -
inmetres [LEE R AR R -
v SR I : 1 0 0 0 0 O 00 O
Y x g ““ s . 0 0 0 A
7. 7 : -+ -+ m T
[ . : T I .
: o 12 . 13 14 15 16 17 _
o : | 100 metres time, in seconds | o (@)
(ii) 'What_typé of correlation is shown by these results?
Answer: ... RO N (1)

(iii) Explain what this correlation tells you about the competitors' running and jumping.

P T T L L L L e e R R LR R R I
egansapudssseEmRRRFLEETRER bR AS , (
[ L R T R R R R

(iv) Draw a line of best fit on the graph. - ' ; . (1)
: ok 14.9 seconds to run 100 metres, but was injured before the triple jump.

e you take your reading, use your line of best fit to predict
have jumped, to the nearest 10 centimetres. -

(v) Sally to

Showing clearly wher
" the distance she would

AHBWETY ' oeonmsmeniersissssnsstssnassess m (1)
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10. ABCDEFis part of a regular polygon with 10 sides.
BCPis a straight line. o

(i) Calculate the size of each of the angles marked w, x, y and z.

\ )
‘ Answer:w= ... . .
1 : Answer: x = ...
Answer: y= ... .
<]
Answer: z= . .

S.A. 2839128 _  qo




The school Matheme ‘ ' I .
desngnedab.m ociety has

The badge consists of & gircle. in whiek
drawn a rectangle. | T

(i) The area of the ¢

Wer 0
¥l e ststsnsinspinasnandiveninniness m

(i) The length of the |
The area of the rectar

drssrsanasnsan 3

N 5 - =

,_:Lll Sl rw”,.
1 i 1 I

= \‘_II F 14
i J

.




12. A ship sets out from Pirates’ Point (P) and sails for 12 kilometres on & bearing of 075°

to a marker buoy (B).
arker buoy and label it B.

(i) Using a scale of 1 cm to 1 km, mark the position of the M
/ -.-\
SEA J

—>» =2

o A it Ll s e A AL

At the marker buoy, the ship receives instructions to change course.
It now sails for 6 kilometres on a bearing of north-west until it reaches a rock (H).

(i) Mark the position of the rock on the diagram and label it A.

Answer: distance ..............

bearing ... i



13.

8cm D‘.‘ 4om C

In the trlangle ABC, AD = BD 8 cm and DC 4 cm.

o (i) Calculate the area of tnangle ABC

CANSWEN: i cm?® (1)

G

i) Calculate the length AC, giving your ansWer correct to three significant figures.

Answer: ........ B sty nann. s cm  (2)

P (i) Use your answers to parts (i) and (ii) to show that length BE = 10.7 om correct to
three significant figures. o

---------------------------------------------------------------------------------------
-------------------------------------------

--------------------------------------------------------------------------------------
.....
---------------------------------------

.................................................................................................................................. (2)
(v) Using BE = 10.7 cm, calculate the length CE. .
Give your answer correct to one decimal place.
ANSWET: .o..nvrevivemennrn cm - (2)
SA, 2839128 43 fith e
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14. (iy When y=-x2 +4x complete this table of values:

| | _ ‘ :
X 5 | -4 | 3| 2|1 ] %
y 5 -4 0

(i) On the grid oppoysite, draw and label the curve "y = X + 4x
(i) When y=3+ 1x complete this table of values:

x |6 | 2] 2

'y .0

(iv) On the grid opposite, draw and label the ine y=38+ %x

(v) Write down the co-ordinates of the poihts of intersection of the curve = y = X* + 4x

and the straightline y =3+ Ix

S.A. 2839128 14
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15. Jack collects mode! aeroplanes. - o -
He buys 3 mode! aeroplanes in a shop for a cost of £s each and 4 mode! aeroplanes
from a website for a cost of £w each. . '

The total cost of these aeroplanes is £45

(i) Write down an equation in terms of s and w to show this informaﬁon-

(1)

15 - _ o L Answer: ..... e

Richard buys 1 model aeroplahe in the shop and 3 model aeroplanes from the website. '

The total cost of these aeroplanes is £25

{ii) Write down a second equétion in terms of s and w to show this in_for_mation-

3 BIRBUBIE  vorrwonmsbmsnmen s s vemmiommsganss (1)
{ 7 .
L (i) S_olvé your twb equations to find the values of s and w.
S
E
1 ,
;J - Answer: § = .......... T SO S Y, )
1 WS e eeenseesesseseoeees oo (4)
! » " Fred buys 5 model aeroplanes in the shop and 3 model aeroplanes from the website.

(iv) How much more does Fred spend than Jack?

ANSWET: £ ovooeeeeeeeeeesoessoe oo oes s eeeso L@

(Total marks: 100)
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